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Part1

You must answer this question. Write your answer in 220-260 words in an appropriate style.

You have listened to a radio discussion about how to make public transport more
environmentally friendly. You have made the notes below.

Ideas for making public transport more
environmentally friendly?

Electric buses
Cycling lanes
Reducing cars

Some opinions expressed in the discussion:

"Buses can charge their battery every night when
they are not being used."

"If the city made cycling safer with dedicated
lanes, more people would use their bikes."

"The city-centre should be a car-free zone with
only public transport and pedestrians allowed."

Write an essay discussing two of the ideas from your notes. You should explain which option is
best, providing reasons to support your answer.

You may, if you wish, make use of the opinions expressed in the discussion, but you should use

your own words as far as possible.
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EXAMPLE ANSWER

Making public transport more environmentally friendly is a vital step in reducing our carbon
footprint and combating climate change. In my opinion, the most effective solution would be to
make the city-centre a car-free zone with only public transport and pedestrians allowed.

The primary reason for this is that public transport, such as buses and trains, is much more
environmentally friendly than cars. Buses can be charged overnight when they are not in use,
and trains run on electricity, reducing their carbon footprint. By contrast, personal vehicles
consume gasoline and emit harmful pollutants into the environment. The creation of a car-free
city-centre would not only reduce air pollution but would also encourage more people to use
public transport.

Another factor that makes this solution more effective is that it would encourage the use of
cycling. By making the city-centre a car-free zone, cycling would be made safer and more
convenient for commuters. The dedicated cycling lanes would provide cyclists with a safe and
secure route, reducing the risk of accidents. This, in turn, would encourage more people to use
their bikes, reducing the number of cars on the road and further reducing carbon emissions.

To sum up, the idea of making the city-centre a car-free zone with only public transport and
pedestrians allowed is the most effective solution for making public transport more
environmentally friendly. This solution would reduce air pollution, encourage the use of public
transport, and make cycling safer and more convenient. By implementing this solution, we can
take a significant step towards reducing our carbon footprint and combating climate change.
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